
WARNING!

• Failure to follow these instructions and warnings may result in malfunction or breakage of this component, 
possibly causing serious injury or death.

• Always use a torque wrench when installing or adjusting fasteners, and always tighten to Redshift torque 
speci�cations (or the bike manufacturer’s torque speci�cation). Periodically check all fasteners for tightness 
using a torque wrench, since fasteners can loosen under the in�uence of road vibration.

• Periodically clean and inspect all surfaces of this component for hairline cracks or signs of damage. If you �nd any 
cracks or damage, immediately cease using the part and contact Redshift Sports customer service

# QTY PART NAME

1 1 U�lity Mount
2 2 U�lity Mount Bolt (M5 x 30mm)
3 2 Lock Washer

INSTALLATION
The ShockStop utility mount (#1) can be installed in the upper or lower pair of bolt holes on the ShockStop 
handlebar clamp.  The mount can be installed with the tube o�set up or down, giving a total of four 
possible installation positions, as shown in the �gure.

Thank you for purchasing the ShockStop Utility Mount. If you are unfamiliar with bike maintenance, or if you 
lack the required tools, please visit your local bike shop or contact Redshift Sports customer service at 
support@redshiftsports.com for assistance. Improper installation or use may void the product’s warranty 
policy and may lead to serious injury or death.  

1.    Loosen the 4 bolts on the ShockStop faceplate and remove the upper 
or lower pair.

2.    Assemble lock washers (#3) under the heads of the two utility mount 
bolts (#2) and apply grease to the bolts.  

3.    Insert the utility mount bolts (#2) through the mounting holes in the 
utility mount (#1), through the two open holes in the ShockStop 
faceplate, and lightly tighten them.

4.    Ensure that the gap between the faceplate and the stem tube is 
roughly equal above and below the handlebar. 

5.    Rotate the handlebar to the desired angle.
6.    Tighten the four bolts gradually (1/4 turn at a time) in an X-pattern 

to a torque of 5.0 N-m.

2
3

1

SHOCKSTOP UTILITY
MOUNT INSTRUCTIONS

Rev. 1

WARRANT Y
For warranty information, please visit www.redshiftsports.com/warranty.

COMPATIBILITY 
The ShockStop Utility Mount is only compatible with the ShockStop Stem. Accessories attached to the mount 
must not exceed 150 grams in total, and must be mounted such that the center of mass of each accessory 
falls behind the  front edge of the utility mount.


